[bookmark: _GoBack]The complete process of aerobic respiration occurs in four different  stages:

A) Glycolysis
It is the primary step of aerobic respiration is glycolysis and takes place within the cytosol of the cell. During the glycolysis process, the glucose molecules are splitting and separated into two ATP and two NADH molecules, which are later used in the process of aerobic respiration.

B) Formation of Acetyl Coenzyme A
The second step in aerobic respiration is the formation of acetyl coenzyme A. In this process, pyruvate is oxidized in the mitochondria and  2-carbon acetyl group is produced. The newly produced 2-carbon acetyl group binds with coenzyme A, producing acetyl coenzyme A.

C) Citric Acid Cycle
The third step in aerobic respiration is the citric acid cycle, which is also called the Krebs cycle. In this stage of Aerobic respiration, the oxaloacetate combines with the acetyl-coenzyme A and produces citric acid. The citric acid cycle undergoes a series of reactions and produces 2 molecules of carbon dioxide, 1 molecule of ATP, and reduced forms of NADH and FADH.

D) Electron Transport Chain
This is the last step in aerobic respiration. In this phase, the large amounts of ATP molecules are produced by transferring the electrons from NADH and FADH. A single molecule of glucose creates a total of 34 ATP molecules.   
NOTE;
) Aerobic respiration is the process of utilisation of oxygen to breakdown glucose, amino acids, fatty acids to produce ATP.
Ii) The pyruvate is then converted into acetyl CoA in the mitochondrial matrix.
III) The Kreb’s cycle occurs twice per glucose molecule.
IV) The protein complexes are arranged on the inner mitochondrial matrix so that the electrons pass from one reacting molecule to the other. This is known as the electron transport chain.
V) ATP synthase produces ATP from ADP and inorganic phosphate.
